RAMAKRISHNA MISSION VIDYAMANDIRA

(Residential Autonomous College affiliated to University of Calcutta)
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1. Answer any ten questions : [10x2]
a) Define Indifference map.

b)
c)
d)
e)
f)
9)
h)
i)
)
k)
1)
m)
n)

0)

What is income elasticity of demand.

Distinguish between the concepts of ‘change in demand’, and ‘change in quantity demanded’.
Define marginal cost.

What is opportunity cost?

What do you mean by normal profit?

What are the main functions of trade union?

What is the difference between money wage and real wage?
Mention two exceptions to the law of demand.

Write four properties of perfectly competitive market.

State the ‘law of diminishing marginal productivity.’

What is meant by MRTS? Explain.

Define quasi rent.

What do you mean by ‘price discrimination’ by a monopolist?
Define ‘monopolistic competition’.

2. Answer any three questions : [3x5]

a)

b)
c)
d)
e)

Make a comparison between ‘break even point’ and ‘shut down point” with the help of a
diagram.

Briefly explain the law of variable proportion.

“Two indifference curves cannot cut each other” —discuss.

Why is there no market supply curve under the conditions of monopoly?

Explain the concept of surplus value in Theory of profit.

3. Answer any four questions : [4x%10]

a)
b)
c)

d)
e)

f)

9)

Discuss the equilibrium of a consumer on an indifference map.
Explain the nature and shape of Long run average cost curve.

When does competition become perfect in the commodity market? Show how equilibrium of a
competitive firm is reached in the short run.

Critically discuss Ricardian theory of rent.

Explain the statement : ‘A monopolist is scheduled to produce at the elastic range of the demand
curve.’

Define price elasticity of demand. How do you measure price elasticity at a point on a downward
sloping straight line demand curve?

Explain in detail three stages of production.
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